

70070

TAX INVOICE

Copy Tax Invoice

DIAGEO

Building 3, Maxwell Park, Magwa Crescent, Waterfall City, Midrand, 2090
Vat Reg: 4750101802 NLA: RG0000525
Customer Service Telephone: 0800 600 230

Invoice Number 9746205435	SAP Order 118791086	Sap Order Date 08.04.2025	Account Number 211592	GRV Required
Invoice Date 18.04.2025	PO Number 00.04.2025	Delivery Date 17.04.2025	Plant / Bay 0113	Order type Duty Suspended
Invoice Address REAL AFRICA TRADING, UNIT 10 LUDEL PARK, LUDEL CLOSE, MILNERTON, 7441, CAPE TOWN		Delivery Address REAL AFRICA TRADING KEMPTON PARK 20 MAPLE STREET 1619, JOHANNESBURG		Payment Terms 30 days from statement Bank: CITIBANK N A SOUTH AFRICA SANDTON 0200079094 / 350005 Customer VAT Number: 4700256318

Product	Description	QTY	UOM	List Price	Customer Discount	Promotional Discount	Amount excl Vat	Vat	Amount incl Vat
694742	Bells Extra Spl 75cl	12X01	70	CAS	1,435.71		100,499.70		100,499.70
679415	J+B Rare 75cl	12X01	70	CAS	1,246.36		87,245.20		87,245.20
777893	JW Black 75cl 12Y	12X01	65	CAS	3,427.33		222,776.45		222,776.45
765053	White Horse Fo 75cl	12X01	70	CAS	1,024.80		71,736.00		71,736.00

ANY RETURNS MUST BE NOTED ON THIS DOCUMENT AND ITS COPY

SEAL: 0087341 - 0087350

Sales Order Notes Notes:	Receipt From Diageo	Name KEE-BEE	Signature 	Date 19/04/25	Taxable Value Rand Vat Rate Tax Amount Rand Total Due ESD Currency	0.00 0.00 0.00 482,257.35 0.00 740
	Receipt From Customer	Name Korabo	Signature 	Date 22/04/25		

Signing this document is a legal requirement





524 0298669

A.Brambles Company

CHEP South Africa (Pty) Ltd.
REG. No. 1957/003310/07

PALLET CONTROL NOTE

Supplier's Name	LR CHAIRWOOD	Supplier's CHEP Acc. No.	2700048255
Receiver's Name	REAL AFRICA	Record CHEP Pallets Only	
Receiver's Address	20 MAPLE STR KEMPTON PARK	Quantity Delivered	09
	JOHANNESBURG 1619	Quantity Exchanged	09
Delivery Note No.	9746205392/435	Balance Outstanding	0
Date	19/04/25	Receiver's Name	Carabo
Haulier's Name	LR.	Receiver's Signature	<i>[Signature]</i>
Vehicle Reg. No.	JBK 126 FS	Correction Note No.	

Receiver is to fill in shaded areas at all times

INSTRUCTION TO HAULIER

09 Pallets returned.

Transactions between CHEP Clients are subject to and upon the current terms of hire of CHEP SA (Pty) Ltd

SEE REVERSE FOR INSTRUCTIONS TO COMPLETE FORM

FNUAFRICA TEL: (031) 565-3450

TAX INVOICE

Invoice Number 5745205435	SAP Order 1187910886	Sap Order Date 08.04.2025	Account Number 211592	GRV Required
Invoice Date 12.04.2025	PO Number 2025	Delivery Date 08.04.2025	Plant/ Bay	GRV Suspend

Invoice Address REAL AFRICA TRADING,
UNIT 10 LUDDEL PARK, LUDDEL CLOSE, MILNERTON, 7441, CAPE TOWN

Rebiller/Address
KENPTON PARK
20 MAPLE STREET
1619, JOHANNESBURG

Payment Terms 30 days from statement
Bank: CITIBANK N A SOUTH AFRICA SANITON 0200079094 / 350005
Customer VAT Number: 4700293318

Product	Description	Qty	UOM	List Price	Customer Discount	Promotional Discount	Amount excl Vat	Vat	Amount incl Vat
664742	Bells Extra Spl 75cl	70	CAS	1,435.71			100,499.70		100,499.70
679415	J+8 Rare 75cl	70	CAS	1,246.36			87,245.20		87,245.20
772853	JW Black 75cl	65	CAS	3,427.33			222,776.45		222,776.45
765053	White Horse Fo 75cl	70	CAS	1,024.80			71,736.00		71,736.00

ALL ATTACHED MUST BE NOTED ON THIS DOCUMENT AND ITS COPY

State Order Number	Receipt From	Name	Signature	Date
Notes	Receipt From	Name	Signature	Date
	Receipt From	Name	Signature	Date
	Receipt From	Name	Signature	Date

Taxable Value Rand	0.00
Vat Rate	0%
Tax Amount Rand	0.00
Total Due	482,257.35
ESD	0.00
Currency	ZAR

Printed on 4/11/2025 at 10:10:10 AM



Tax Invoice
DIAGEO
Building 3, Maxwell Park, Magera Crescent, Waterfall
City, Midrand, 2090
Vat Reg: 4750101802 NLA: R60000535
Customer Service Telephone: 0800 600 230

DIAGEO

SOUTH AFRICA

DIAGEO SOUTH AFRICA (PTY) LTD
REG NO. 1964/003344/07
BUILDING 3, MAXWELL OFFICE PARK
MAGWA CRESCENT WEST
WATERFALL CITY
MIDRAND
2090

CUSTOMS DECLARATION RESPONSE
CUSDEC-CUSRES : RESPONSE

EDI

Customs Branch

Customs Office Code : DBN
Customs Office Name : DURBAN

Declaration Details

CUSDEC Submitted : 2025-04-14 14:57
CUSRES Received : 2025-04-14 14:58
Broker TIN : 00045760
Consignor/ Exporter TIN/ ID No. :
Consignee/ Importer TIN/ ID No. : 00045760 - DIAGEO SOUTH AFRICA (PTY) LTD
LRN : 00045760DBN20250414001941
MRN : DBN202504145031673
Message Function : 9 - Original
Assessment Date : 2025-04-14

Consignment Details

Category RPC(Purpose) :	E 43
Port of Exit :	
Master Transport Document No :	9746205435 REAL AFRICA JNB OSCAR
Master Transport Doc Date :	
House Waybill Number :	
House Waybill Date :	
Transport Method Code :	
Voyage/ Flight Details :	
Actual Arrival Date :	
Estimated Arrival Date :	
Country of Export :	
Country of Destination :	ZA
Location of Goods :	
Remover Details :	DIAGEO SA 3(Road) - 21443521
Number of Packages :	Pocket 3A, Clairwood Logistics Park 1
Part Clearance Quantity :	Clairwood 1
Total Weight :	Tel: 031-0231141 275
Customs Value :	161514
Agents Reference :	9746205435
Job Number :	B00001824
Unique Parent Message No. :	1944
Customs Print Indicator :	N (NO CUSTOMS PRINTED RELEASE REQUIRED)
UCR Number:	

Container Numbers

Customs Status

CUSRES Status* :	1 Release	
Case Number :		
Line	Code	Free Text Box :

* Release Authorities must verify the authenticity and accuracy of all CUSRES Notices presented to them.